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Clues
Unit	
  of	
  measurement ACRE Addams	
  Family	
  cousin ITT
White	
  mineral ALABASTER Depart LEAVE
Setting	
  trip	
  wires,	
  for	
  example BOOBYTRAPPING Elbow	
  room LEEWAY
Superhero	
  accessory CAPE 18	
  or	
  21,	
  often	
  (2	
  wds.) LEGAL	
  AGE
At	
  a	
  high	
  point CLIMACTIC Short	
  rest NAP
Sign	
  of	
  disuse COBWEB Cleaned	
  up NEATENED
Drink	
  containers CUPS Volcanic	
  glass OBSIDIAN
Where	
  the	
  answer	
  to	
  this	
  puzzle	
  is	
  located DIAGONAL Xerox	
  machine	
  output PHOTOCOPY
Microsoft	
  OfVice	
  component EXCEL Teacher PROFESSOR
Canyon GORGE Depression	
  drug PROZAC
Short	
  poem IDYLL Toy	
  dog	
  breed PUG
Rebellious INSUBORDINATE Drink	
  with	
  jam	
  and	
  bread TEA
Line	
  on	
  a	
  weather	
  map ISOBAR Chestnut	
  or	
  orange,	
  e.g. TREE

Double-Blind Experiment

The	
  solved	
  grid	
  is	
  shown	
  below.	
  One	
  clue	
  
is	
  "Where	
  the	
  answer	
  to	
  this	
  puzzle	
  is	
  
located";	
  by	
  process	
  of	
  elimination,	
  its	
  
answer	
  must	
  be	
  DIAGONAL.	
  Reading	
  
down	
  the	
  main	
  diagonal	
  of	
  the	
  puzzle,	
  
the	
  answer	
  COWROTE	
  can	
  be	
  seen.


